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1 Which one of the following west flowing rivers has the largest catchment-area?
(A) Mahi (B) Periyar
(C) Sabarmati (D) Bharathappuzha
(E)  Question not attempted

freferRad & & o6 oY ufm it 37T e arell 7t 1 Ge T STTTUEur-ae 27

(A) W& (B) uf@Em®
(C) HTeRHdr (D)  wEagHT
(E) rgaid 9
2 Mushroom rocks, shifting dunes and playas are features of which of the following regions of India?
(A) The Island (B) The Coastal Plains
(C) The Indian Desert (D) The Peninsular Plateau

(E)  Question not attempted

oA e, TATFTA] LeTed el 3R TR Wi o Hferiad | & forer & ot farsioand &2

(A) =9 (B) R HSH
(C) WRAT HEere (D) SR 98’
(E) a9

3 Kanchenjunga peak is situated in which of the following regions of Himalayas?
(A) Darjeeling and Sikkim Himalayas (B)  Arunachal Himalayas
(C) Himachal and Uttarakhand Himalayas (D) Kashmir Himalayas

(E)  Question not attempted

e IR femTery o freforfiad & o forer & 1 feora 22

(A)  afSiferT ofi fafrery fearea (B) U fenrer™
(€) Teuree it sTIEE femem™ (D) R fedTer™
(E) 3rgaild o
4 o7 @ 3F7 T W AT % TTT e W1 T B -
(A) IR (B) 3™
(C)  JFadnTear (D) AT
(E) Srgaiaug
5 Which country will host the FIFA Women’s World Cup in 2027?
(A) India (B) Brazil
(C) Australia (D) South Africa

(E)  Question not attempted

e wiecr fag &a, 2027 6 AT S G 397 HI?

(A) ¥RG (B) SISt
(C) et (D)  afetor STshrent
(E) Igaid o=

6 Which one of the following Indian Paralympian has won two gold medals in the Paralympics 20247
(Choose the most appropriate option from below)
(A) Manish Narwal (B) Nishad Kumar
(C) Yogesh Katuria (D) Devendra Jhanjharia
(E)  Question not attempted

oreaferfia i 8 forer cfer Srrferferr 3 Ao 2024 8 et waeh S 87 (e -8 wrar swgres forre o)

(A)  HHIY T ®) o FaR
(C) ARy Fefer (IEECEEIE
(E) Srgaiaug
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7 Match List-I with List-II

List-I (Country) List-II (Capital City)
a. Mauritius 1. Victoria
b. Seychelles il. Jakarta
c. Maldives iii.  Port Louis
d. Indonesia iv.  Male
H=it-1 %1 e g=fi-11 o e shife
Tl (37) -1 (TS ITE)
a. A 1. [EETITOI)
b.  WRIH ii. SRl
c. HEE TR | CA S
d.  ZeRfmr iv. T
Choose the most appropriate option from below:
1 4 & gaw suge fased 1 = i
(A) a-i, b-ii, c-iii, d-iv (B) a-ii, b-iv, c-i, d-iii
(C) a-iii, b-i, c-iv, d-ii (D) a-iv, b-iii, c-ii, d-i
(E)  Question not attempted / ﬂ@ﬂ'ﬁﬁ K
8 Rakesh is son of Aman’s father’s sister. Sonu is son of Disha who is mother of Gopal and Grandmother of
Aman. Aarav is father of Tanya and grandfather of Rakesh. Disha is wife of Aarav. How is Rakesh related to
Disha?
(A) Grandson (B) Niece
(C) Nephew (D) Cousin

(E)  Question not attempted
THRT ST o TUQTSTT T S8 o1 T 81 | {21 o6 T & S 777t o6t 1 Sit € S 37 o1 qeT €1 STE a1 o
TSt 3T ket & STeTSit ) ST Y Ieit formm R Trahat ot fomm & . Tisier 22

(A) draT (9 (B)  weiSiT (w7rerit)
(C)  WIIIT (el (D) == SE/aTE
(E) Igaid o=

9 From the given options select the box that can be formed by folding the sheet shown in fig (X).

3TRfd (X) W fa@Ts 11 3fte ot uig ot damw st s fau Te foereat # & =1 i

| X
@
= #
@)
$
X)
#
(A) ® X (B) ® $
® X
(C) x $ (D) ":"

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
T19 ] O 3 [ P.T.O.



10 “SAr=SEeT o EiY fa=se 2-

(A) T+ (B) IT=®T+3ad
(C) Sr=s1q + (D) 3T +Bled
(E) Srfaiayy

Read the passage carefully and answer questions that follow by choosing the correct option:

(Q. No. 11 to 15)

While working in the establishments of Space Defense Research and Atomic Energy, Dr. Kalam found that
the best human beings and the most innovative minds were present here, in plenty. One common feature was
also found in all the scientists and technologists: they were not afraid of failures during their pursuits because
failures contained within themselves the seeds for further learning, which could lead to better technology and
eventually to high level of success. These people were great dreamers and their dreams finally culminated in
spectacular achievements. Taking account of the combined technological strength of all these scientific
institutions, it would certainly be comparable to the best found in the developed world.

Regarding personal freedom, Kalam is said to have adopted two techniques to strengthen it. First, by building
one’s own education and skills — knowledge is the most precious tool; the more up-to-date knowledge one
possesses, the freer one is. A leader can only be free to lead his team, if he keeps abreast of all that is
happening around him. To lead is in a way, to engage in continuing education. The second ways, is to develop
a passion for personal responsibility, by way of taking on responsibility to work for the things you believe in.
If you do not, you would be surrendering your fate to others. Historian Edith Hamilton wrote of ancient
Greece, “When the freedom they wished for most was freedom from responsibility, then Athens ceased to be
free and was never free again. The truth is that there is a great deal that most of us can do to increase our
freedom. We can combat the forces that threaten to oppress us. We can fortify ourselves with the qualities
and conditions that promote individual freedom.”

Dr. Kalam is neither an orthodox nor a conservative religionist. He has a scientific temper blended with
spirituality. Drawing an analogy between science and spirituality he says, “While science has a habit of
questioning, spirituality is based on known principles; both of them lead one to seek truth.” He is an individual
filled with humanism and loved and renowned by the entire nation, without any barriers of age and community.
“India must stand up to the world because I believe that unless India stands up to the world, no one will
respect us. Only strength respects strength.” So said Dr. Abdul Kalam, the nuclear scientist who developed
and structured India’s missile arsenal. He belongs to the world of nuclear weaponisation and has supported
the nuclearisation of India consistently.

11  According to Dr. Kalam, the element that was common beween the scientists and technologists was:
(A) They were best in the world (B) They had spectacular achievements
(C) They were not afraid of failure (D) They were great dreamers
(E)  Question not attempted

12 According to Dr. Kalam, personal freedom can be achieved only when

a. You empower yourself with knowledge

b. You free yourself from all responsibility

c. You develop a passion for personal responsibility.

d. You develop courage to be responsible for the work you believe in
Choose the most appropriate answer from the options given below:

(A) a,bandconly (B) b,candd only
(C) b,dandaonly (D) a,canddonly

(E)  Question not attempted
T19 | O 4 [ P.T.O.



13 Dr. Kalam supported nuclearisaion of India as he strongly believed that:
(A) We can combat the forces that threaten to oppress us
(B)  Unless India stands up to the world, no one will respect us
(C) Knowledge is the most precious tool
(D) There is a great deal that most of us can do to increase our freedom
(E)  Question not attempted
14  Dr. Kalam draws an analogy between science and spirituality according to which
a. Science is based on questioning whereas spirituality is based on established principles
b. Both are arrived at by not questioning
c. Both lead one to seek truth
d. Both are habits
Choose the most appropriate answer from the options given below:
(A) aandbonly (B) bandconly
(C) canddonly (D) aandconly
(E)  Question not attempted
15  Match List-I with List-II

List-I List-11

a. Conservative L Using new ideas

b. Arsenal II.  To feel stronger

C. Innovative II. A collection of weapons

d. Fortify IV. Opposed to sudden social change
Choose the most appropriate answer from the options given below:
(A) a-MILb-ILc-I,d-1V B) a-1V,b-Ilc-1,d-1I
(C) a-ILb-1V,c-1L,d-I D) a-Lb-1V,c-1,d-1I

(E)  Question not attempted

16 A sum of money amounts to ¥ 6,690 after 3 years and to ¥ 10,035 after 6 years on compound interest.

Find the sum.

Teh; GIIRT =Ishal g, SATST | o 9T o S1& % 6,690 T 6 N o 92T X 10,035 T ST &, AT T STHT UIRT J1f
(A) 4,400 (B) 4,460

(C) 4,900 (D) 5,000

(E)  Question not attempted / ﬂaﬁﬁﬁ Iq

17  The price of a gold-biscuit is directly proportional to the square of its weight. A person broke down the
gold-biscuit in the ratio of 3 : 2 : 1 in terms of its weight and faced a loss of ¥ 4,840. Find the initial price of
gold-biscuit.

I o U foreape shi i 38k AT o T o AT 8| T ATk 6 T o foieahe %l 3 1 2 : 1 o SIJaTd | qrgdr
& I AT 8 foF 39 < 4,840 T 1 21 W 21 WM o foreape oAt wrfvrer shiwa 31 il
(A) 7,000 (B) 7,200
(C) %7,920 (D) 8,000
(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
T19] () 5 [ P.T.O.



18  Dadu Dayal was born at .
(A) Nagaur (B) Bikaner

(C) Kota (D) Ahmedabad
(E)  Question not attempted
EECRISEIESECIRIE
(A) TERH (B) swERH
(C) HlTH (D) STE9RETE |
(E) raid 94
19  Which site of copper culture was discovered at the source of river Kantali at Neem Ka Thana?
(A) Gilund (B) Bagor
(C) Ganeshwar (D) Abhar

(E)  Question not attempted

<t BT oI | it Tt o TN UL ATH T T Shi | T QIS 772

(A) Frere (B) TR
(C) TR (D) TS
(E) orpaiaug
20  Which of the following kings of Kamboj has created four scriptures of total 326 Paragraphs?
(A) Bahuvarman (B) Yashovarman
(C) Rajvarman (D) Jayvarman

(E)  Question not attempted

frefctiiaa o & sHwaiisT o fore TT = et 326 STTTSRI o6 =R =T oAl TAT h1?

(A) T (B) it
(C) TSI (D) SFIHA
(E) Jaid o=
21  Which temple is called ‘Mini Khajuraho’ of Rajasthan?
(A) Ramgarh Bhand Devra Temple (B) Temple of Kiradu
(C) Rani Bhatiyani Temple (D) Shree Nakodaji Temple

(E)  Question not attempted

e o Tt @eer for wifeat t ahet ST 82

(A) THTG g TaT AT (B) Torug AR
(C) T ufear afx (D) #ft AreRreT St ufeat
(E) Srgaiaug

22 Who founded Kamadia Panth?
(A) Ramdevji (B) Mallinathji
(C) Harbuji (D) Tejaji
(E)  Question not attempted
SHTATSAT TeoF T TATIHT foher 3T 2
(A) THeT St (B) TfoeHm St
(C) TS (D) dTSit
(E) Srfaiayy

T19 ] O 6 [ P.T.O.



23 Which place of Sikar is famous for gota industry?

(A) Khoor (B) Piprali
(C) Nechwa (D) Khandela
(E)  Question not attempted
HYHT BT SR BT T e ST o fore wfdrg 22
(A) TS (B) Tt
(C) T (D) @eelr
(E) orpaiaug
24  Which of the following regions of Rajasthan is benefitted by Gurgaon Canal Project for irrigation?
(A) Bharatpur (B) Jaipur
(C) Kota (D)  Jodhpur

(E)  Question not attempted

TSTEAT o freaferfad o & forer & ot e Tt afsiT @ fRi=s ot @ st 22

(A) WAL (B) SAYX
(C) I (D) SER
(E) aid 9

25  What is ‘DIGGI’ construction?
(A) A new agriculture method
(B) A technique of Hand Loom
(C) Operation for restoring surplus water for field crops and agricultural activities in canal command area
(D) Construction of pipeline for irrigation
(E)  Question not attempted
(A) I T TS TFd
(B)  BJHTHT hi Tah qhr1h
(C) e HHM & H FEa ST BT TTCI ST oh [T SR STt ST el T AT
(D) Féi=s o fore rguetTs o fmfor

(E) raid 9

26  Which is the oldest Public Sector undertaking of Rajasthan? (Choose the most appropriate option from
below:)
(A) Hindustan Salts Ltd. (B) Rajasthan State Ganganagar Sugar Mills Limited

(C) Rajasthan Drugs and Pharmaceuticals Ltd. (D) Rajasthan Electronics and Instruments Ltd.
(E)  Question not attempted

ST ST He¥l T ATaST(eh &1 T SUSHH i 6T 22

(=1 4 & e 3 faered =)

(A)  Tegem dreey ffiee (B)  TISTEM ¥ TR YR firew fafiee
(C) TSR g Ug HHIE[eeheT foafies (D)  TSTE g Ue geghied fafiice
(E) 3rgaid 9

T19 ] O 7 [ P.T.O.



27  The words ‘Socialist and Secular’ were added to the Preamble of the Indian Constitution by:
(A) 41% amendment (B) 42" amendment
(C) 44" amendment (D) 46™ amendment
(E)  Question not attempted

A o HfTET Y T 8 316€ “Socialist” (FHTSIETET) 3T “Secular” (SHfTder) fore e g7 e T2

(A) 41t gues (B) 424t @umeT
(C) 449t GameT (D) 4691 GuET
(E) 3gaild o
28  Who introduced the final draft of the Constitution?
(A) Dr. K.M. Munshi (B) N Gopalaswamy Ayyangar
(C) Dr. B.R. Ambedkar (D) Alladi Krishnaswamy Ayyar

(E)  Question not attempted

T St Sifaw T (gee) forees grr & et off?

(A) . T ARl (B) T MUTATESTHT SR
(C) St AR, et (D) TS FEOTREATHT 3L
(E) raid 9
29  Which Fundamental Right was deleted from the list by the 44™ Amendment Act, 1978?
(A) Right against exploitation (B)  Right to property
(C) Right to freedom (D) Cultural and educational rights

(E)  Question not attempted

44 3 weTTee SRR, 1978 % SR FFfofaa # € i § wifcies SATerr i =i § get foam i o

(A) ST o faeg T (B) Huft &1 3AfrepR
(C) Tad=dT ol AR (D) HiEHIh I SeFureh HTIhR
(E) Igaid o=
30 ffaRad o & aet o1ef s === i
T T LT, ST 19 =1gr”
(A) S HT AT e (B) ¥ Ug Wkt hl o
(C) Ueh hedTee aTeil Hosil (D) TH &I AT HUg
(E) a9
31 g TR gE -1 & gAferd i :
- (3T 91e3) -1 (3T 91e3)
a. ek wuH U IE g L ey
b. e g L. %ad
c.  SIeEddedr? L 3=
d. S ford TR SUSRRI BT WICT B V. g
e foq T forshedt 7 @ wafees 3w S T :
(A) a-Lb-ILc-1IV,d-1I (B) a-IV,b-Lc-ILd-II
(C) a-1IV,b-IL,c-II,d-1I D) a-LLb-Lc-I,d-1V
(E) Srgaiaug

T19 ] O 8 [ P.T.O.



32 fyefafad 9 o= oiee it uens 3rfaemt fagrear 2-

(A) To=mi & shasrgar B) fo=mi o sregmar
(C)  Teremti o e (D) fo=mi o =TeHeRar
(E) Srfaiays

33  What a special effect is called that occur when you move from one slide to the next during on-screen
presentation? (Choose the most appropriate option from below)
(A) Slide Transition (B) Effect
(C) Custom Animation (D) Present Animation

(E)  Question not attempted

Teh Sl oh SR Uoh SQATSS U GHL T3S o TR H 37T afTel SIS S ohl T hed &7

(Fret & & w3 foshed =)
(A)  TATEE Ziforer (B) sHE
(C) oEH THHTH (D) USie TfmEE
(E) 3rgaild o
34 is the Shortcut key that hides the selected columns in Excel.
iTeehe ! TRIS § =1+ shictH ol fedTdl 2l
(A) Shift+FI10 (B) Alt+H
© F2 (D) Ctrl + 0 (Zero)

(E)  Question not attempted / H@ﬁﬁﬁ Iq
35  Which of the following statement is NOT true about the different types of MS Word Alignments?
(A) Left Alignment-All the lines of the paragraph will be aligned on the left
(B) Center Alignment- All the lines of the paragragh will be aligned to the center
(C) Right Alignment- All the lines of the paragraph will be aligned including on the right
(D)  IJustify- The only left side of the paragraph will be aligned including the last line.
(E)  Question not attempted
e 8 9 o g1 e fafir=T TohR & T 1@ 9E TETEaERE & 9 ge TR 8-
(A) ST g 3TT=0q ohl Tft AT aifeft 3T fherg 2t
(B) W& UATSTH=2-3T<a8 ot @eft TlTe wear ot 7 vifeharg aFft
(C)  raf UelTEae-3T7=g ot Tl e afeft 37 dfeharg &t
(D) SIREwHRE-37=3 1 St T (TerTsH) Uitherg et forerd it ofeh off wfimfor &

(E) Igaid o=

36  The moist deciduous forests are not found in which of the following regions of India?
(A) Foothills of Himalayas (B) Northeastern States
(C) Eastern slopes of the western ghats (D) Peninsular plateau

(E)  Question not attempted

A o ffcTiiad o & ford &1 # 3173 quiaTelt 9 72t T STt 22

(A) Teurer i fiiug (B) Tgdl Tt
(C) Ut =me & qoff s (D) YEEYE TSR
(E) Srgaiaug

T19 ] O 9 [ P.T.O.



37  Which of the following is known as the oldest museum of Rajasthan?
(A) Abhar (B) Amrapali
(C) Albert Hall (D) The Crystal Gallery

(E)  Question not attempted
g & & fordt TrsTEer™ % WT=i-aH SURTer o &9 H STHT SITdT 82

(A) wES B)  smEAh
(C) I B (D) T et
(E) raid 9

38 Kolleru lake is situated in which of the following states of India?
(A) Odisha (B) Rajasthan
(C) Andhra Pradesh (D) Tamil Nadu

(E)  Question not attempted

SHITE SieT W o fefeiad § 9 forg Tsa 8§ feaa 22

(A) it (B) TS"IH
(C) A (D) dfeTg
(E) 3rgaid o

39  Select the status of population where number of members in pre-reproductive stage is less than the number
in reproductive stage:
(A) Expanding (B) Stable
(C) Declining (D) Stages not affecting each other.
(E)  Question not attempted

STEEAT T 39 Rt T < IS FSaH el TSI el aTel Set ol ST SIS aTel aet & & &l

(A) JERI (B) TUmIt
(C) BEEH (D)  STSIEITC, Ueh GEL oh STfordt & et &
(E) Igaid o=
40  Who is considered as the father of ‘Ecology’ in India?
(A) C.V.Raman (B) Ramdeo Misra
(C) Panchanan Maheshwari (D) Lalji Singh

(E)  Question not attempted

frmfofaga & @ v & corfiftufaehl & SHen o 9 7 ford ST ST 22

(A) @t (B) Tmed foam
(C) U= mREd (D) et fig
(E) a9

41  Which among the following is produced by a fungus?
(A) Citric acid (B) Butyric acid
(C) Acetic acid (D) Lactic acid
(E)  Question not attempted
{31 5 9 T Uk ke ST SdTIed BT 87
(A) fafges s (B) i 37t
(C) Ul s (D) dfdes vt
(E) Srfaiays

T19] (5 10 [ P.T.O.



42  The most appropriate statement about thalassemia is:
(A) Thalassemia gene is present on Y chromosome.
(B) Thalassemia patients are able to manufacture normal haemoglobin.
(C) Thalassemia is caused due to defect in RBC producing genes.
(D) Thalassemia patient requires frequent blood transfusion in order to survive.
(E)  Question not attempted
ST e & Helferd ol 3UFh e ol < RIS
(A) TR ST Y OGS T Sufterd B 2l
(B)  JEfirEm Uit g e e sFT 8§ ger 2 2
(C) IETHY (RBC) 30— ot ATt S & 4fe &1 3 hreor Srerefifirm I arert 2
(D) SorEfirEm it et Sfifara @ 3 fore SrFaR w3 it STreveeRar el 8

(E) rfaiayy
43  Arrange the names of Governors of Rajasthan in the chronological order:
a. Shri Raghukul Tilak b. Shri Sukh Dev Prasad
c. Dr. Sampurnanand d. Dr. M. Chenna Reddy
TSTEAT o TSIITEA o AT bl TSI S H AT
a. #ft wwa fooe b, gEeE TR
c. I EFuHg d. <A AR
Choose the most appropriate answer from the options given below:
et foq T forehedt 7 @ @it 3ugw oK I:
(A) a,b,c,d (B) b,c,a,d
(C) c,b,d,a (D) c,ab,d

(E)  Question not attempted / ﬂ@ﬁﬁﬁ 99
44  The Balwant Rai Mehta Committee was set up for the purpose of-
(Choose the most appropriate option from below:)
(A) Investing the adequate financial resources of the village panchayat
(B) Suggesting measures for democratic de-centralization
(C) Reporting on the working of the village panchayats at that time
(D) Suggesting measures for better efficiency in the implementation of the community development
projects
(E)  Question not attempted
SeTeid T et i freferfiad 9 @ fore seva @ wfua ot et oft? (Frerfafiaa & & warg suges fosea =)
(A) T USRI o YA foefr warert 1 fewr o & fog
(B)  QIehditareh forehmsIehtul o F&Ta o o feTg
(C) 9 =T UTH U= ot s et shl fdie 37 o forg
(D) AT forshrer afeSTS T SrEa qardT & AR i & g3 3 o forg
(E) rgaid 9
45  Which of the following parts is related to the Directive Principles of State Policy in Indian Constitution?
T % Hfifa fFréeren gt &1 frer § @ siF-am 9m S wfaen 9 geia 82
(A) IV B) V
(C) VI (D) IV-A
(E)  Question not attempted / H@ﬁﬁﬁ Iq

T19 ] O 11 [ P.T.O.



46 A person is having symptom of severe weakness and is diagnosed with ‘Beriberi’. Which of the following
vitamins would be supplemented through medicine and diet?
(A) Vitamin A (B) Vitamin B
(C) Vitamin C (D) Vitamin D
(E)  Question not attempted

Teh Ffth e HASTIT ShT TT&IUT ST & SHRT 0T ‘&’ U T Sirar 21 fF=ferfad § @ o6 @t faerfum

I IMER T 39T & ek &9 & faar s

(A) faafg (B) frafist
(€) fyarfimrdt (D) faafms
(E) a9

47  Red blood cells of which of the following blood groups contains both A and B antigens?
7 1 & forw SR w9 o1 ATet Th ShIRTERTSAT § A T B &1 s (YESH) I/ SITd 82
(A) A (B) B
(C) AB D) O
(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
48 A person with blood antibody B can recieve blood from the blood group of:
(A) AorOonly (B) BorOonly
(C) AorBorABorOonly (D) Oonly
(E)  Question not attempted

e e (8eh T H B Wief &, for 2o e a1 70T 3t wehar 27

(A) HITATO (B) ¥IABATO
(C) wad AITB ATABATO (D) HAFO
(E) i@ yy

49  Rajasthan Value Added Tax Act was passed in which year?
TSTET oo HaTHa L ST (3 TsS o) for o wifid g
(A) 2003 (B) 2006
(C) 2007 (D) 2010
(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

50  Where is Dhirubhai Ambani Solar Park located?

(A) Kota (B) Dhursar
(C) Suratgarh (D) Kavai
(E)  Question not attempted

efT®TS ST ER dTeh gl OL feord 82

(A) I (B) TR
©) ¥ (D) g

(E) oafa vy
T19] () 12 [ P.T.O.



51  Which of the following is the first major coal-based Thermal Power Plant in Rajasthan?
(Choose the most appropriate option from below:)
(A) Chhabra Power Plant (B) Kota Thermal Power Plant
(C)  Suratgarh Power Plant (D) Kalisindh Thermal Power Plant
(E)  Question not attempted

freAfcTfiae o & o9 A1 TSR o1 T ShST 2 eTT-STaTi a1 forgd 63 22

(1 5 & war| 3ug faeed )
(A) BTe fagd # (B) #leram fora v
(C) TTaTe forea gt (D)  hrefiféie aTd forgd w2
(E) Jaid 9%
52  The reaction which is catalysed by the product formed is called reaction.
(A) reversible (B) autocatalysed
(C) biochemical (D) displacement
(E)  Question not attempted
g SATufsrar e 3cute & S o1 1 LT 2, Frfsrferan srEaTdt 21
(A)  Scshmvfer (B) Tad:3cuRa
(C) SarE® (D) foeumw
(E) 3rgaid 9
53  The functional group present in aldehydes is:
ufteeTe i Suftor e () A9
H
(A) —OH B — é =0
(0]
< —C— (D) —|C|—OH
(II)

(E)  Question not attempted / aagai‘{a B

54  The IUPAC name of the given compound is:

CH;
(A) 2-Methylbutane (B) 1-Methylbutane
(C) Pentane (D)  3-Methylbutane

(E)  Question not attempted

CH; — CH — CH,CH; fo2r U Aifire &1 TUPAC T 2

CH,

(A)  2-fremsersge (B) 1-fumsersgeT
(C) U (D) 3-fremgerse
(E) Srfaiayy

T19] (5 13 [ P.T.O.



55

56

57

58

59

Alkaline KMnO4 + Heat

CH;CH,OH > CH;COOH

In the above reaction, alkaline KMnQO, acts as a

(A) reducing agent (B) oxidising agent
(C) Catalyst (D) dehydrating agent

(E)  Question not attempted
arim KMnOy + @om

CH;CH,OH > CH;COOH

YR AffeRaT 7 TR KMnO, & & 1 s T 2

(A)  TIETIS FHHb (B) AT ek
(C) 3AH (D) frsicfiertr wds
(E) 3rgaid 9

Choose the most appropriate English word for the given word:

gecdTe

(A) Abetment (B) Abatement

(C)  Abolishment (D) Apartment

(E)  Question not attempted

Choose the most appropriate one-word substitution of the given sentence:
A portable case for holding papers, drawings, documents etc.

(A) rack (B) portfolio

(C) wardrobe (D) briefcase

(E)  Question not attempted

Choose the most appropriate word which is opposite in meaning to the given word:

Disparage
(A) Derogatory (B) Detraction
(C) Comfort (D) Applaud

(E)  Question not attempted

The first satellite launched by India into space was:

(A) INSAT-1A (B) Aryabhatta
(C) Chandrayaan-1 (D) 1IRS-1A
(E)  Question not attempted

WA gRT 37T | HSIT 73T YT 3UUE o

(A) T (INSAT)- 1A (B) 3RWE
(C) <saM-1 (D) 37§ IR TH (IRS)- 1A
(E) SFfaiawy

T19 ] O 14 [ P.T.O.



60  The least distance of distinct vision (or the near point) for normal eye is taken as 25 cm. This distance
increases to 50 cm for an elderly person. If the person tries to read a book at about 25 cm from the eye, the
image appears blurred. This defect of the vision of eye is called:

(A) Presbyopia (B) Hypermetropia or farsightedness
(C) Myopia or nearsightedness (D)  Astigmatism

(E)  Question not attempted

Teh HHIRT 4 o FoIq ¥78 39 ot =paw gl (3 frene foig) 25 Qeft oft <ireft 21 o g =afeh o forw 71 gl wrgert 50
et T 21 ST 21 At STk 25 Wt oA g8 U TEqeh UG ohT TATH ST & QA St oie (HST) Gt St grar 81 3 &
I g A hEAT &:

(A)  THSTEITYAT AT SRS (B)  ETSTTHZITTRT T Lgfe 3
(C) YT a1 fehe gfe g (D) uftemHfesw a1 Srfsigehar
(E) 7 e
61  Who was the first Chief Minister of Rajasthan? (Choose the most appropriate option from below:
(A) Jai Narayan Vyas (B) Tika Ram Paliwal
(C) Hira Lal Shastri (D) Hari Dev Joshi

(E)  Question not attempted
TSTET o o et &t o7 (frfofiaa & & gae 3uge fashed 914:)

(A) S TR FTE (B)  2TehT TUH UTettarer
(C) & AT It (D) &ftea St
(E) 3raid 9
62  Who appoints the chief secretary of the state government?
(A) Prime Minister (B)  Chief Minister
(C) President (D) Governor
(E)  Question not attempted
TS TR o & Hiwrdl 3! ik i e a2
(A)  ggEEAT (B) g
(C) gt (D)  TSFAT
(E) Srfaiayy
63  Where is the headquarters of the Revenue Board of Rajasthan?
(A) Jodhpur (B) Udaipur
(C) Ajmer (D) Kota
(E)  Question not attempted
TSTEAT TSI e ol [&ATeHd el &7
(A) SR (B) 3SEL
(C) 3R (D) Fer
(E) a9

64  How many true breeding pea plant varieties were used by Gregor Mendel for his experiment on artificial/
cross pollination?
IR HES  STO SHTH/qT TN SR o o 7T o WTel it fehetT [, ST foh ST shr?
(A) 8 B) 7
(©) 14 (D) 10
(E)  Question not attempted / ﬂ@ﬁﬁﬁ il

T19 ] O 15 [ P.T.O.



65  Select the camel breed known to have excellent swimming capacity in seawater.
(A) Malvi (B) Jalori
(C) Kharai (D) Mewari
(E)  Question not attempted

32 ol 39 e B T Forerst Tl STt & A ot I &ar et 2

(A) Tt (B) STER
©) W (D) T
(E) rgaid 9
66  Who among the following is the Advocate General of Rajasthan as on 6™ September 20247
(A) Jitender Gupta (B) Jai Singh Sharma
(C) Rajendra Prasad Gupta (D) Bhupendra Meena

(E)  Question not attempted

frfefad & & TsrerT o HRIie®T (6 faawr 2024 i) F &

(A) =z (B) < figvmi
(C) TS S/@Tg TR (D) gz Hfon
(E) a9

67  Given below are two statements:

Statement (I): The highest unit of Panchayati Raj system, is Zila Parishad or District council. Zila Parishad
is a supervising authority regarding the execution of the plans and projects of the rural
development and progress

Statement (II): The Zila Parishad (District council) is organized by the direct elected members from regional
areas i.e MLA’s, MP’S from Zila Parishad.

In the light of the above statements, choose the most appropriate answer from the options given below:

(A) Both Statement (I) and Statement (II) are correct.

(B) Both Statement (I) and Statement (II) are incorrect.

(C) Statement (I) is correct but Statement (II) is incorrect.

(D) Statement (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted

fardrw fumd

HUT - (1) : TSI TS SHAEAT hT Iarad TohTs (ot aieg a1 fefgae srsfeat 81 forer afteg omeftor foermar 3

Tl T ST SR AREISHTST 3 it § geifid steftaor it )
HA - (1) : oreT ufeeg (Feftgare Ffear) o soaea 30 & o Yot ait=ia aawa 37T Sl 9iwg % MLA,

MP T T STt 21
IUH T o T H FTAREd el § 8 Haifarss 3ug o 9 :
(A) & (1) 3R (I1) ST T & (B) &Y (I) 3R &Y (II) T 7T 2l
(C) & (I) W & fohe o (1) T ¢ | (D) % (1) T @ Tobeq] 9 (II) ¥ &
(E) 3rgaid 9

68  There is certain relationship between the two terms to the left of :: and the same relationship exists between
the two terms to its right. Find which option would replace the question mark?

12 o ST ST AT TGT o W 5 Helel & 3T 6T T b1 Heftl IHeh Q1T 3T o 31 Ual o HeA 8| THATeeh @ # 3T
Tt forehed T aaT eIy

324 :289::256: 7

(A) 125 (B) 200

(C) 225 (D) 361

(E)  Question not attempted / ﬂ@ﬁﬁﬁ B

T19] (5 16 [ P.T.O.



69  Find the number of triangles in the given figure:

it &t 18 ST H Bl oht e STy
A) 13 (B) 15
€ 1o (D) 17

(E)  Question not attempted / @@ﬁ'ﬁﬁ Iq

70 ‘A’, ‘B, ‘)C’, ‘D’, ‘E’ and ‘F’ are sitting around a round table. ‘C’ is not in either of the neighbouring seats
of ‘E’. ‘A’ is between ‘E’ and ‘F’ and ‘E’ is opposite to ‘D’. Who is opposite of ‘F’?
‘A’,‘B’, ‘C’, ‘D, ‘B’ WP’ @Wﬁﬁ%aﬁ IS B “C’, ‘E’ o o1t hl Foreft die A shar 31 “A”
‘B’ 3R F’ h T 9T 2 9T ‘B’ ‘D’ & |IHH 93T 2| ‘F’ o /i S 3T & 2
(A) A (B) B
© cC (D) D
(E)  Question not attempted / ﬂ@ﬁ'ﬁﬁ Iq

71  In arow of children, Geeta is fifth from the left and Praveen is twelfth from the right end . If Praveen shifts
by three places towards Geeta, he becomes tenth from the left end. How many children are there in the row?

=T i U Ufth T, T 9T SR ¥ Uite S T SR Yl afee SR ¥ aRed €0 W =l afe yeftor, it i 1
A T e ST 2, 1 98 9T S ¥ 39d ST WX 37 ST 2] Uit § et fohd el o2
(A) 20 (B) 22
(C) 24 (D) 26
(E)  Question not attempted / iﬂfﬁﬁﬁ Iq
72 The Government of India is planning to implement a new highway toll collection system based on which
technology? (Choose the most appropriate option from below)
(A) Barcode Scanning (B) Near Field Communication
(C) Global Navigation Satellite System (D) Radio Frequency Identification
(E)  Question not attempted

A TR Teh T TSZHNT et HUEYT JUMTed! W forem ot T 8 3 foher qeheiieh WX SATeTid &

(=1 o & ward 3uge foreheq )

(A) SIS Eh{TT (B) Trr hice wrgfem

(C) TSI ferie deeise faeen (D) e et smge-dftheram
(E) Jaid o=

73 Where has DRDO conducted a successful test flight of the Indigeneous Technology Cruise Missile (ITCM)
on 18 April 2024?
(A) Rajasthan (B) Odisha
(C) Andhra Pradesh (D) Karnataka
(E)  Question not attempted

S AR 3T 18 31 2024 T TRt R 31 forETser (ITCM) 1 96et IS W& et fora om?

(A) TUSEIE (B) e
(C) ATy (D) FAleH
(E) 3rgaid 9

T19 ] O 17 [ P.T.O.



74  Todgarh Raoli Wildlife Sanctuary is located in ?

(A) Assam (B) West Bengal
(C) Chhattisgarh (D) Rajasthan
(E)  Question not attempted
2reTE et 9= Sfier STvamRes 7§ feora 21
(A) 9 (B) Ufym &M
(C) e (D) TS
(E) a9
75  Who has been appointed as the New Chairperson of CBSE, in March 2024?
(A) Navneet Sahgal (B) Rahul Singh
(C) Vinay Kumar (D) Subodh Kumar Singh

(E)  Question not attempted
T 2024 ¥, H. 3. TE. 5. o T 37e0E o 98 W oy e feram

(A) o gETe (B) Tgw fHe
©) fomzgam (D) Yo FAR fiiE
(E) 3rgaild o
76  Who became the first Indian to win a match in a Masters 1000 Tournament on clay courts?
(A) Ramesh Krishnan (B) Nitin Kirtane
(C)  Sumit Nagal (D) Sagar Kashyap

(E)  Question not attempted

Tt () 1E o WTEe 1000 ZATHE # < S aTel T2 WA i o2

(A) THI B) fafe R
(C) ghHarTe (D) UFR FE
(E) orpaiaug

77  When a narrow beam of sunlight is incident on a glass prism, the emergent light is seen to be consisting of
seven colours. In the emergent light:
(A) the violet light bends the most, while the red light bends the least.
(B) the red light bends the most, while the violet light bends the least.
(C) both the violet light and the red light bend equally.
(D) bending of light beam does not occur.
(E)  Question not attempted
ST €I YehTIT sl Tk STRIh WA Teh hie o o7 o Safaa gt R, aF fia Seerer @ra @ ot gwiiar 281 fia
TRTET H:-
(A) ST TohTeT HerY 3Afereh 3T ATel YehTST Herdl o fareiford 2rem 2
(B) TSl YehIST 18 31fereh 37T STt wehter i o forarfora 2rm 21
(C) STt o et FenreT T srer farrfera & 8
(D) 1T U9m 1 foreretr 2t BT 2
(E) a9
78  From the top of a cliff which is 90 m high, the angles of depression of the top and bottom of a tower are
observed to be 30° and 60° respectively. What is the height of tower?
TS 90 m el T T =TT §, AL Al =1 T TR o STEH i HA: 30° T 60° T e T S 7T 22
(A) 30m B) 40m
(C) 60m (D) 70m
(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
T19 | O 18 [ P.T.O.




79 A solid right circular cylinder has height 17 cm and its radius is 8 cm. The cylinder is cut in three equal parts

(by 2 cuts parallel to base). What is the percentage increase in total surface area?

T 3 AR I 1T S T HaTs 17 et e Brsar 8 9t B1 39 SIe ol A SIS W (39 SR & dHial &t
) W ST TTAT| ot TET &Rt H afg, T TTIwTet 7T &7
(A)  50% B) 68%
©)  79% (D) 64%
(E)  Question not attempted / aﬂﬁﬁﬁ B
80  Which of the following pair is NOT correct about the keyboard keys?
(Choose the most appropriate option from below)
(A) Control Key - Tab (B) Command Key - Caps Lock
(C) Punctuation Key - (;) Semicolon. (D) Navigation Key - Page Up

(E)  Question not attempted

I IS I o Ha § T o & & A1 3 Wl e 82

(A) T2 - Tab (B) TS &I - Caps Lock
©) qaagma?r - (;) Semicolon. (D) EICUMES (A1) & - Page Up
(E) raid 9

81  Which of the following is open command in MS office?
ffefad & & 9 T v AR § fiue Fie 22
(A) Tab+O (B) Ctl+0O
(©) Alt+0O (D)  Shift+0
(E)  Question not attempted / aa?lﬁﬁ B
82  Which of the following is the most appropriate for the name of Excel sheet?
(A) Minimum 1 Character, Maximum 21 Character
(B) Minimum 1 Character, Maximum 31 Character
(C) Minimum 2 Character, Maximum 19 Character
(D) Minimum 2 Character, Maximum 27 Character

(E)  Question not attempted

frfafaa & @ &9 o1 T e & T % o 7ad 399 22

(A) =IFaw | of, sferepad 21 9ot (B) =g7a 1 auf, siferehad 31 a0t
(C)  =gam 2 3o, sferehad 19 9ot (D) =g 2 ut, Sferehaw 27 a0t
(E) 3rgaid o

83  Which dialect is spoken in the areas of Churu, Jhunjhunu, Hanumangarh, Suratgarh and Ganganagar?
(Choose the most appropriate option from below:)
(A) Malvi (B) Mewari
(C) Shekhawati (D) Marwari

(E)  Question not attempted
I i STt %, SE, BIAG, UATE S TR & H sttt St e (e 3 & Taet 39 foehed )

(A) Hert (B) HaTet
(C) @@t (D) HFETE
(E) a9

T19] (5 19 [ P.T.O.



84  What is the reason for the popularity of Allah Jilai Bai?

(A) Dance (B) Mand Singing
(C) Kurja Singing (D) Playing instrument
(E)  Question not attempted

3TeetTe STt s T TAohfSraraT T R 7 22

(A) < (T (B) wieME

(C) Fi (D)  9TE I ST

(E) raid 9

85  Identify the grammatically most appropriate sentence from the options:
(A) Inaweek’s time I will complete my work.
(B) Inaweek’s time I will have completed my work.
(C) Inaweek’s time I will be completed my work.
(D) 1Inaweek’s time I will be complete my work.
(E)  Question not attempted

86  Choose the most appropriate passive form of the word ‘Mistake’ to complete the sentence:

The meter reader for a burglar by the landlady.
(A) mistook (B) was mistook
(C) was mistaken (D) has mistaken

(E)  Question not attempted
87  Choose the most appropriate option to fill in the blanks:

He looked at me with horror when I explained that [ was double agent. (x = blank)
(A) a,a B) x,a
(C) the, the (D) the, x

(E)  Question not attempted
88  Choose the most appropriate option to fill in the blank:

I need to buy eggs but I haven’t got money to pay for them.
(A) some, any (B) any, some
(C) all, little (D) few, alittle

(E)  Question not attempted

89 fr=faftaa 9 wraares g3 1 3erETr -

(A) Tt ®) fm=
(C) diar D) =
(E) rJaid 9

90 ‘Compensatory’ 1 Teet oy formr a1ef 0 Brar 22
(A) (B) afaqe
C) =N (D) 3RS
(E) Srfaiawd

T19] (5 20 [ P.T.O.



91 In the given figure, if PQ || RS, £ QPE=128° and £ PER=148°, then £ SRM is equal to:
feumu o, 9f PQ || RS, £ QPE=128°Td / PER=148°, @ / SRM &I &:

g Q
Ep1age
R S
M
(A) 88° B) 92°
(C)  96° (D) 98°

(E)  Question not attempted / H@ﬁﬁﬁ Iq
92  The area of a triangle formed by a line 2x — 3y + 6 = 0 and the co-ordinate axes is:
(A) 3 square units (B) 4 square units
(C) 7 square units (D) 10 square units
(E)  Question not attempted

W@ 2x — 3y + 6= 0 o gRT 3R Fwrien 37t ok wrer i Brysr a1 e 2

(A) 3algHE (B) 4atzEs
(C) 7TalgHE (D) 10 3RS
(E) SFfaiayy

93 A and B can do a piece of work in 45 days and 40 days respectively. They began to work together but A
leaves after ‘m’ days and B finished the rest of the work in (m +14) days.
The value of m is:
(A) 9days (B) 23 days
(C) Sdays (D) 17 days
(E)  Question not attempted
A 3R B forett href bt AT 45 Tt ST 40 FomT o o Wbt 81 o FircTent el Toed ot & ifert A, ‘m fediT a6
aTe 1 BIE 3T 2 3R B W 1 BT (m +14) Tl H 00 S a1 8, A m FTAM &

(A) 9f B) 23f@
©) s5f@ D) 17fF
(E) a9

94  ‘FTHU H THE B
(A) wgsfife (B) g
(C) 8 (D) T
(E) 3rgaid 9

95  ‘gftese & fifed suenf -
(A) W (B) uR
€ | D)
(E) a9

96 TrefarRaa o foram et ot wet g el -
(A)  TcTeT - T (B) wed -
©€) T&-w (D) ST - gt
(E) Srgaiaug

T19 ] O 21 [ P.T.O.



97 fa=fefad § et srea 7E 8-

(A) @ B) frex
(C) W (D) e
(E) i ys
98  TrmferRad o 3= frfaa ame -
(A) TR STRT STAT R (B) 3t R H TR 31501 2
(C) U AT S Rl (D) ¥E U & gEae 2l
(E) Srpaiaug

99 In a certain code, ‘he made good money’ is written as ‘1465°, ‘he must be good’ is written as ‘9421°, ‘must
save some money’ is written as ‘9876°, ‘be good save grace’ is written as ‘2483’. Which of the following is
the code for ‘some’?
foreft fafsTe A & ‘he made good money’ H 1465 fR@T ST 2, ‘he must be good’ T <9421 foraT SITaT 8,
‘must save some money’ T 9876’ feraT ST B, “be good save grace’ I 2483’ fTTET AT RI ‘some’ & fag
fafeaRad & & % 91 e g2
(A) 6 B) 7
© 8 D) 9
(E)  Question not attempted / ﬂaﬁﬁﬁ el

100 What will be the next number in the following series?

frafafaa Sroft o s e s et

3, 10, 20, 39, 85, ?

(A) 212 B) 112
(C) 99 (D) 101

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

101  Which of the following pair will give displacement reaction?
(A) FeSO, solution and copper metal (B) AgNOj; solution and copper metal
(C) CuSOy solution and silver metal (D) NaCl solution and copper metal
(E)  Question not attempted

frfeRad o & i /SISt oo sffsra s

(A) FeSO, faeta 3 am (W) 41 (B)  AgNO; forea SR amH (1) &1q
(C)  CuSO, forerr i =idt (frear) arg (D)  NaCl foreta 3T qTH (1T) o1
(E) Srfaiayd
102 Agquaregia is a freshly prepared mixture of concentrated HNO; and concentrated HCI in the ratio of
respectively.
% HNO; 31 85 HCI 3l 5T AT | TR ATSIT TSR (3T freror semm
ST 2
(A) 1:3 B) 2:3
© 3:1 D) 3:2

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
T19 | O 22 [ P.T.O.



103 A ray of light is incident at an angle of incidence 15° on a plane mirror (as shown in figure).

The value of X is:
TeRTST ShT Ueh TohToT et YT UR 15° o SATYCH ShivT UL SATIfAd sht STt & (St foh oot & fgmmm mn @) £ X &t
1=|'|7-Ifﬁ"'|T:-
Normal
I
I
59
X
I
I
(A) 45° (B) 65°
(C) 75° (D) 85°

(E)  Question not attempted / 33!1?”??1 99
104 Where is the Institute of Development Studies situated?

(A) Udaipur (B) Bhilwara
(C) Jaipur (D) Mount Abu
(E)  Question not attempted
forehTer STearr T el W e 22
(A) L (B)  fierarreT
(C) R (D) WIS 3
(E) raid 9
105 Where is the Central Institute of Arid Horticulture located?
(A) Chittorgarh (B) Jalore
(C) Bikaner (D) Shriganganagar
(E)  Question not attempted
T Y ARTATT W et o feurd 22
(A) Tudteg (B) TR
(C) iR (D) SR
(E) rgaid 9
106 Where is National Institute of Fashion Technology situated in Rajasthan?
(A) Jodhpur (B) Udaipur
(C) Jaipur (D) Kota

(E)  Question not attempted

TS Y SeNfireh! ST TSTer H el feord 22

(A) STER (B) AW
(C) AR (D) =i
(E) raid 9
107 Choose the most appropriate English translation of the given sentence :
TR AT ST
(A) It’s easy to find faults (B) Faults can’t be easily found
(C) It has been easy to find faults (D) 1It’s very easy to find faults

(E)  Question not attempted
T19 | O 23 [ P.T.O.
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110
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113

Choose the most appropriate reported form of the given sentence:
He said, “Don’t walk on snow. It isn’t safe.”

(A) He warned us not to walk on snow as it wasn’t safe.

(B) He said to us not walk on snow for it isn’t safe.

(C) He told us that it is not safe to walk on snow.

(D) He warned them how unsafe it was to walk on snow.

(E)  Question not attempted

Choose the most appropriate form of the verb to fill in the blank:
The passengers in the waiting room are restless after the announcement that the train
(A) runs (B) was late
(C) was running (D) isrunning

(E)  Question not attempted

Hfth’ 3163 1 HfY - foeesg Hifsrg)

(A) ¥+3f (B) ¥+

(C€) g+3Fw (D) HFH+3

(E) Igaid o=

“gafend H TH 8-

(A) VT (B) dcqEy

(C) 3% (D) SHHUR

(E) orfaiaud

The genes associated with colour blindness are located on

(A) Autosomes (B) X- chromosomes

(C) Y- Chromosomes (D) Mitochondrial DNA
(E)  Question not attempted

FurieerT & S o feord 2 B

(A) ST (B) X- U

©)  Y-ToEA (D)  HTEEHI-gATE ST (DNA)
(E) raid 9

In the following reactions -

ffefaa stfwfsrmeti @ 4 -

(i)  2S0,+0,==2S04 (i)  Np+3H; —=2NHj
(iiiy Ny +0,=——=2NO (iv) Hy+I1,—=2HI
Which reactions occur in presence of catalyst?

I STAITCRATE ITNeh shT JufeereT # Bit 82

(A) (i) and/aT (ii1) (B) (i) and/d¥T (iv)

(C) (1) and/adT (ii) (D) (1), (1) and/q9T (iii)

(E)  Question not attempted / ﬂ@ﬁﬁﬁ 99

T19 ] O 24
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114 Trfaiaa # 35 T I o8 ©-

T

Gyt

et

i

. &HE
et fow T forhedt # & wifeeh 39 SR I
(A) wada, b3 d (B) wadc,d3e
(C) aaTb,d3fNe (D) FacAa, b3 e
(E) gaid 9

115 AT QIeAr Terat 1 §el 319 8-
(A) BT T T T LT (B)  @hfe afierg T
(C) ST M (D)  hITT Yk ST
(E) 3raid 94

116 Frfafaa & & o ora 1 v T 8-

e

SATRTT

TR

ClIPEIED

. ESSEE]
et faw e forshedt # @ wrafferer 3w S IR :
(A) Hada3Ne (B) @aaib AN ¢
(C) aac3d (D) @b, ¢ 3 d
(E) raid 9

117 One morning just after sunrise, Ankit was standing facing a pole. The shadow of the pole was formed on the
left side of Ankit. Which direction was Ankit facing?
(A) East (B) West
(C) North (D) South
(E)  Question not attempted
3Rl T YT TG oh T UF F ohl 3T ek W1 oT| Tl ohl ST ekt o el S o Tt oft 3iferay
Torer TorTT ST AT 7@ itk @St T 2

o a0 o p

° a0 o

(A) (B) ufgm
(C) W (D) gfequr
(E) a9
118 If 15" February, 2018 was Thursday, what was the day on 19" April 2019 ?
(A) Thursday (B) Friday
(C) Saturday (D) Sunday

(E)  Question not attempted
afe 15 wEardt 2018 i TR T, dT 19 3T 2019 T hiF-4T fa a2

(A) TEaR (B) IBFAR
(C) wIfHar (D) oEw
(E) SFfaiawy

T19 ] O 25 [ P.T.O.



119 Take the given statements to be true even if they seem to be at variance from commonly known facts.
Then decide which of the given conclusions logically follows from the given statements.
Statements:
No paper is car.
All cars are marker.

Some markers are erasers.

Conclusions:

L Some cars are erasers is a possibility.

IL. Some papers are markers.
(A) Only conclusion I follows. (B)  Only conclusion II follows.
(C) Both conclusions I and II follow. (D) Neither I nor II follows.

(E)  Question not attempted

3T T e Bt T T T STH ST [T a2 o STET UTS STt &, SHeh G A {3 e e & vad
ot fehe =t foofar <

hUA:
SIS HATS I a2
aeft R AT B
S AT 3R (W) B
e

L %0 FREE (TR) B ¢ I8 SHTET 2
I %S T AT &

(A) et TRy [ STET LT 2 (B) et T+ [T T80T T
(C) ThY [ TH 11 3T STTERT L €l (D) QI ST & 11 SATHT HT 2
(E) 3rgaid 9

120 Choose the word closest in meaning to the underlined word from the given options:
During the course of the interview, she refused to answer the question that infringed on her personal life.
(A) ingrained (B) ingested
(C) infused (D) invaded
(E)  Question not attempted
121  Choose the most appropriate word similar in meaning to NONCHALANT
(A) indifferent (B) insubstantial

(C) insurrection (D) intimidating

(E)  Question not attempted

122 A set of step-by-step procedures for accomplishing a task is known as
(A) Firmware Program (B) Software bug
(C) Hardware Program (D) Algorithm
(E)  Question not attempted

forett hmef ot O ot ok oI =IoTeTg, (¥ AT €8) oM o U= ! hed &

(A) HHORIE T (B) W9 &
(C) eI I (D) UeiEH
(E) Srgaiaug

T19] (5 26 [ P.T.O.



123 Who imposed Chanwari tax on the farmers of Bijolia in 1903?
(A) Rao Krishna Singh (B) Jagirdar Prithvi
(C) Sadhu Sitaram Das (D) Maharana Fateh Singh
(E)  Question not attempted

1903 3. # farsiifetan o foramaT 9T <ot o forere o e

(A) TEFfHE (B) SIfaR geaft
(C) wTg HiaT 7 3™ (D) HERIT %eie e
(E) orpaiaug
124 Who was the first Governor of Rajasthan? (Choose the most appropriate option from below:)
(A) Shri Kalraj Mishra (B) Maharaja Sawai Man Singh
(C)  Shri Gurumukh Nihal Singh (D)  Shri Hem Bahadur Singh

(E)  Question not attempted

TSTEAT o WO TSI i 47 (1 9 & aet 3 foaehed )

(A)  ft ot firsr (B) HERIST @aTs A fiE
(€) #ft T frerer foe (D)  #ft 2u wrergy fie
(E) rJaid 9
125 Which one of the following is the State tree of Rajasthan?
(A) Deodar (B) Khejri
(C) Rohida (D) Saal
(E)  Question not attempted
R & 8 ST TS o1 T 98 22
(A) &R (B) Tt
(C) ufger (D) @
(E) aid 9
126  Spirulina is a good source of-
(A) Fat (B) Vitamin C
(C) Carbohydrate (D) Protein
(E)  Question not attempted
TATEEAHT ST & 2-
(A) TETH (B) faemmCar
(C) YT (D) WA
(E) raid 9
127 When air in between the plates of a capacitor is replaced by mica of dielectric constant 4, its capacity -
(A) remains unaffected (B) reduces to %th
(C) becomes 4 times (D) becomes 2 times

(E)  Question not attempted
afe HATTGT T wiel o s oht AT i 3T9eh, TSTeehT TISEIq ferdieh 4 2, § sraet foam Ry, wermieer <ht et -

(A) SrdfEfda @t (B) i-@rwﬁ
(C) 4RSI (D) 2 THATE SRAf
(E) Srfaiayy

T19 ] O 27 [ P.T.O.



128

129

130

131

132

Who is known as the father of the Indian space programme?
(A) Dr. A.P.J. Abdul Kalam (B) Dr. Homi Jehangir Bhabha
(C) Dr. Satish Dhawan (D) Dr. Vikram Sarabhai

(E)  Question not attempted

VAT ST HRIshH o STk o ®T § hi- foeard 22

(A)  3F. TS 375 Faw (B) 1. gl SR srer
(C) . Tcftsr ga (D) . foerm g
(E) Srpaiaug

‘P’ is the centre of Circle. A tangent is drawn which touches the circle at ‘M’. If £ BPM =70°, then what
is the measure (in degrees) of £ DMR ?

T I T % P 2| Teh TRt i< STt 2 S 9 sl M WX ¥991 ket 21 9f £ BPM =70° 2, a1 £ DMR &1
T (37 H) T 22

&

B D
™M R
(A) 55° (B) 60°
© 70° (D) 75°
(E)  Question not attempted / 33!@?”3??1 99
m?2 -1
If cosec O + cot® = m | then find the value of T
m? +
2 _
gfe cosec 0 + cotO=m 7,4 m2 ] T | 14 i)
] m? +
(A) S 0 (B) cos0
() cosecH () tan®

(E)  Question not attempted / aa?lﬁﬁ Iq

If v/80 +6+/5 =22.35, then what will be the value of 3/5 ++/125 2
& /80 + 6+/5 = 22.35 B, a1 35 + /125 1 A T A

(A) 16 (B) 17.88
(C©) 2288 (D) 25.88
(E)  Question not attempted / ﬂﬁﬁﬁ B

What is the difference of Median and Mode for the given data?
e faw e siveRe o fore wnfeerent vd sgeen H @ SR 22

90, 94, 52, 68, 80, 94, 52, 65, 87, 90, 70, 52

(A) 23 B) 25
< 27 (D) 29
(E)  Question not attempted / ﬂfﬁﬁﬁ B
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“Pivot Table” is a feature of which of the following software?

(A) Microsoft Excel (B) Microsoft Word

(C) Microsoft Access (D) Microsoft Powerpoint
(E)  Question not attempted

7 7 9 Forer EToea <1 O forRire “foae oot 22

(A) TIShIETR TR (B) TIEHER I€

(C) WTEShIETHE TR (D)  WIEShIETHE UTeRuTE

(E) orpaiaug

Which of the following is an Input device?

(A) Speaker (B) Printer

(C) Mouse (D) Visual Display Unit
(E)  Question not attempted

Frmrferfia 2 & @i o 3ge feamga 3

(A) Tl B) fi

(C) H=H (D) Tosparet feawt e
(E) Igaid o=

Which of the following command of Excel will take you to the previous sheet of the work book?

TR o1 TTeATcTRad o 9 i 1 TS STTaeh s qieeht ot il wite e et s
(A) Ctrl + Shift + Page Up (B) Alt+Page Up

(C) Ctrl +Page Up (D) Tab+ Page Up

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

Choose the most appropriate statement from the following:

(A) The format of the date in an official letter is 01/04/24.

(B) A notice is distributed to the selected people in an organization.

(C) A D.O letter is written by an authority to the employees of that organization.

(D)  “Yours respectfully’ is the appropriate subscription for an informal letter.
(E)  Question not attempted

Choose the most appropriate word to complete the given sentence:

The boy crawled the fence to enter the garden.
(A) above (B) out
(C)  under (D) near

(E)  Question not attempted
Choose the most appropriate word to complete the given sentence:

His ideas on the link between art and culture in Asia do not conform

theories.
(A) within (B) into
(C) with (D) to

(E)  Question not attempted

T19 ] O 29
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Rajasthan State Allied and Health Care Council is constituted under
(A) National Allied and Health Care Profession Commission Act - 2020
(B) National Allied and Health Care Profession Commission Act - 2022
(C) National Allied and Health Care Profession Commission Act - 2021
(D) National Allied and Health Care Profession Commission Act - 2023
(E)  Question not attempted

TS €2 ITATEE U TR ISR T T 7 T o qad fohaT TIT &:-
(A) FIE FATES U BRI ThI FHHITH T - 2020

(B) YA IATEE U TodshaT TIhYM HHITH TFe - 2022

(C) IS ATES TS Toehal e HHIIME T - 2021

(D) A HATEE U LUhT T HHIIH T - 2023

(E) Iqaid o=

Which City was the venue for the international AYUSH Conference and Exhibition 20247
(A) London, UK (B) Mumbeai, India

(C) Dubai, UAE (D) New Delhi, India

(E)  Question not attempted

I W e H AU Y (AYUSH) FRIeH o TeiHT 2024 B8 o1

(A) W&, I H (B) W, WA
(C) T, LTE (D) Tt fiedt, TR
(E) qaid 9%

UL TeE H i AT AT 2

(A) T B) %

© (D) %

(E) 3raid 94

STt 3Te ‘SR’ ST frfaIltad o e 7ot 2 8-

(A) A (B) @MT

(C) & (D) e
(E) raid

frfaRaa o <o o1 waieET e 8-

(A) T (B) dE"
) @ (D) AR
(E) a9

The percentage profit earned by selling an article for ¥ 1,920 is equal to the percentage loss by selling the
same article for ¥ 1,280. At what price should the article be sold to make a profit of 30%?

forell & 1 < 1,920 H srer UL 3TN T 31 STa=TA ST I X 1,280 H s 0 T 6T N1 Ueh §HH & 36 3%
T ToRE ShIHA O ST ST fo 30 T SITH & |eh?

(A) 2,000 B) 1,900
(C) 2,080 (D) T3,500
(E)  Question not attempted / aagaiia B
Iff+1:1,then x3 +y3 =7

y X

y X

(A) 0 B) 1
© -l D) -y

(E)  Question not attempted / ﬂfﬁﬁﬁ Iq
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146 The value of [

147

148

149

150

T19] O

1 1 1 )
log, 72 - log, 72 " log, 72} 15

1
{log3 72 * log, 72 * logg 72} I 2
A 0 B) 1
© 2 (D) 5
(E)  Question not attempted / ﬂ@ﬁﬁﬁ 99
Meja dam has been built on which of the following rivers of Rajasthan ?
(A) Parvati (B) Kothari
(C) Javai (D) Mahi
(E)  Question not attempted
R & & Toree it forg Tt o A T sfer ST T 22
(A) HrEdr (B) ISR
(C) vEE (D) R
(E) orpaiaug
Select the most incorrect statement about desert soil.
(A) Desert soil is displaced by wind.
(B) It lacks in fertility but keeps more salinity.
(C) Ber, drumstick and karonda are considered excellent for the improvement of desert soil.
(D) Desert soil is found in eastern Rajasthan.
(E)  Question not attempted
HEEITT TaT o SN H Herd 3T o T T
(A) TEEATT gaT UarT o gRT foreefu & St 21
(B)  S9Y 3T hl HHT Afeh 31fereh Srarorar s+t Teet 21
(C) ST, HESH AT FIST HEEAATT HaT o G H I9H HH S &
(D) TR 73T el TSre T H Urit STt &)
(E) Srfaiayy
In Rajasthan, Talchhapper wildlife sanctuary is situated at
(A) Bundi (B) Churu
(C) Sirohi (D) Jaipur
(E)  Question not attempted
TSTET H ATCTSTo Fsie ST 7 o 22
(A) B) T&
©) fausd (D) SR
(E) Srfaiawy
Indira Gandhi canal is situated in which of the following regions of Rajasthan?
(A) Semi dry Region (B) Western Desert plain Region
(C) Aravali Region (D) South Eastern Region
(E)  Question not attempted
T et TR TS o MefiRad & € ford &7 o Sfafed &2
(A) 3T 3 & (B)  ufst weeerchi fert &=
(C) 3ITact & (D)  aferor goff &
(E) 3rgaid 9
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SPACE FOR ROUGH WORK /7% &1 & o180 T

I US| 31 Uadi & - T Oia o7 fzdta 9id, Ther aar w it a7 oI @ ud gdienyt I
TS & G Sfaal dieres & A, qienet w@d fGdta gta s SeT T8 Y | diged R I A
%1 qeT ITd &1 9 9TH AT &, T5dta Tia 1 567 Sfd | e A13 6 7Ig T Ara4T=H1 Galeh 3777 T
adtemaf @t @ia | gdemef fadta gfa &t oraa are o A |
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